BK Albrekts
Albrekts lagbarometer 6:1

IMP 6ver faltet, 16 bord, 32 par. Antal brickor: 6.

Plac Par Poang Namn MID
1 4 4.06 Mikael Westerlund - Ulla Westerlund 9690 10090
2 8 3.86 Kenneth Svensson - Nils Svensson 14859 26780
3 303 3.33 Bo Roos - Robin Bjorkstrand 13691 30309
4 202 2.67 Oscar Hult - Hans Eriksson 12879 4844
5 108 2.49 Kenneth Johansson - Stellan Andersson 11997 2726
6 207 2.07 Gunvor Ronnbéack - Anita Riccius 3727 18080
7 205 2.06 Per-Ingvar Skoglund - Vera Gemrud 2734 23764
8 105 1.94 Jan Wistrém - Marie Ynner 4167 38957
9 306 1.38 Jan Nilsson - Tommy Gunnarsson 11991 10295
10 1 1.16 Lars Kennethsson - Per Jansson 17074 2485
11 206 1.10 Sten Oman - Hans Brolin 10766 7596
12 304 0.98 May Moore - Bjoérn Wenander 4867 4856
13 102 0.80 Emil Vall - Matti Lepistd 47682 14649
14 307 0.77 Jan Malmstrom - Birgitta Lénberg 2785 13579
15 3 0.41 Bjorn Sorling - Lena Johansson 80438 15309
16 301 0.37 Per Andersson - Michael Lemborn 17111 1215
17 101 -0.37 Enar Bergstrom - Olof Norberg 14921 4827
18 203 -0.41 Elisabeth Olsson - Kerstin Edwall 42078 47140
19 107 -0.77 Britt Bjork - Ingegerd Peterson 14866 14153
20 302 -0.80 Villy Havasi - Agneta Svenberg 89205 26779
21 104 -0.98 UIf Aronson - Anders Aronson 2515 16676
22 6 -1.10 Suzanne Lemborn - Eva Gunnarsson 14984 12598
23 201 -1.16 Leif Wennebrink - Hans Barkman 2755 85786
24 106 -1.38 Bjorn Westling - Bengt Alrud 1666 4373
25 305 -1.94 Lars-Goran Larsson - Per Sintorn 2743 36301
26 5 -2.06 Erling Ohlsson - Torleif Hagg 87034 12267
27 7 -2.07 Isis Lundqvist - Tiger Lundqvist 58765 58764
28 308 -2.49 Axel Selven - Ludvig Strannabjer Melin 63229 64837
29 2 -2.67 Britt-Marie Warborn - Per Fahraeus 2783 3010
30 103 -3.33 Jan Ragnebéck - UIf Runze 2366 4967
31 208 -3.86 Ove Olsson - Sven-Olof Onnesson 10903 10902
32 204 -4.06 Anders Norin - Peter Krug 8191 14201
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8 208 S2v+1 ¢T 140 88.0 -88.0 1 201 S3N+2 3 460 114.0 -114.0 4 204 S4e= &8 420 85.0 -85.0
3 203 S3&= ¢T 110 78.0 -78.0 8 208 S3N+1 ¢5 430 102.0 -102.0 7 207 Sdea= &8 420 85.0 -85.0
1201 O3¢-1 vA 50 53.0 -53.0|106 306 S3N+1 &9 430 102.0 -102.0 |102 302 S4ea= &8 420 85.0 -85.0
107 307 O2¢= vA -90 -1.0 1.0 4 204 NAa= &6 420 102.0 -102.0 |104 304 N4 = v7 420 85.0 -85.0
4 204 S2v-1 ¢T -100 -7.0 7.0 1108 308 N4a= &6 420 102.0 -102.0 |108 308 S44= ¢ A 420 85.0 -85.0
101 301 S4e-1 T -100 -7.0 7.0 1105 305 N3N= v4 400 96.0 -96.0 (105 305 S34+2 &8 200 50 -5.0
105 305 S2v-1 ¢T -100 -7.0 7.0 5 205 S4#= v8 130 9.0 -9.0 2 202 S3++1 &8 170 -4.0 4.0
106 306 S4v-1 ¢T -100 -7.0 7.0 1104 304 S4a= 49 130 9.0 -9.0 3 203 S34+1 &8 170 -4.0 4.0
2 202 O3¢= vA -110 -9.0 9.0 2 202 N4e-1 v] -50 -52.0 52.0 5 205 S24+2 &8 170 -4.0 4.0
7 207 O2¢+1 vA -110 -9.0 9.0 6 206 S3N-1 v7 -50 -52.0 52.0 8 208 S34+1 &8 170 -4.0 4.0
102 302 Q3¢ = vA -110 -9.0 9.0 /102 302 N3N-1 v4 -50 -52.0 52.0|107 307 S34+1 vK 170 -4.0 4.0
103 303 O3¢ = vA -110 -9.0 9.0 3 203 S6¢ -2 49 -100 -73.0 73.0 6 206 O5¢D-1 «A 100 -34.0 34.0
104 304 O3¢= vA -110 -9.0 9.0 7 207 S6%-2 49 -100 -73.0 73.0|101 301 Pass -68.0 68.0
108 308 O3¢= vA -110 -9.0 9.0 |107 307 N6a-2 43 -100 -73.0 73.0|103 303 S4ea-1 »8 -50 -87.0 87.0
6 206 N3e-2 ¢A -200 -51.0 51.0|101 301 N3N-3 v4 -150 -88.0 88.0|106 306 V3¢+1 46 -130 -110.0 110.0
5 205 N44-3 ¢A -300 -85.0 85.0[/103 303 N6ND-3 &6 -500 -173.0 173.0 1 201 V3v= 44 -140 -111.0 111.0
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108 308 S3a= 8 140 83.0 -83.0|101 301 S1ND+3 &5 480 146.0 -146.0 4 204 NA#= v8 130 106.0 -106.0
6 206 OA4v-2 «Q 100 72.0 -72.0 (104 304 VIN-2 &9 200 62.0 -62.0 8 208 N2#+1 v8 110 91.0 -91.0
1 201 Od4v-1 43 50 46.0 -46.0 4 204 SIN+1 4K 120 33.0 -33.0|105 305 N3&= v2 110 91.0 -91.0
3 203 O4v-1 44 50 46.0 -46.0 1 201 O3v-1 &K 100 24.0 -24.0 5 205 N4&-1 v8 -100 21.0 -21.0
4 204 O4v-1 4 50 46.0 -46.0 8 208 VIN-1 v5 100 24.0 -24.0 6 206 S3N-1 +9 -100 21.0 -21.0
8 208 O4v-1 ¢A 50 46.0 -46.0|102 302 O3v-1 &K 100 24.0 -24.0 2 202 V3v= &A  -140 50 5.0
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